
51991539
51991540

BJ091

14 . 41

14



51991541
51991542
51991543
51991544

14 . 42



51991545
51991546
51991547
51991548

14 . 43

14



51991549
51991550

14 . 44



51991551
51991552
51991553
51991554

51991551
51991552
51991553
51991554

BJ440

51991862

51991864

Cod.

14 . 45

14



51991555
51991556
57290020

M12
M16

D16/M12

15
20
18

51991556 51991555

51991862
51991863
51991864
51991865
71113953
71113954
71113951
71113955

12

16

16

18

24

24

10

14

8

M12x1,75

M16x2

M12x1,75

33
43
40
50
20
25
30
35

55
65
65
75
38
43
48
53

67
77
81
91
48
53
58
63

59
68

134
145

75
82
91
99

(g)GFEDBAPart Number
Weight

C

14 . 46



57001051
57001052
57001053

25
40
50

77
87
87

0.81
1.12
1.36

Dg6 L

34
44
44

L1 Weight
(Kg)Part Number

57001061
57001062
57001063

25
30
30

75
85
85

0.23
0.34
0.40

Dg6

20
20
35

D1g6 L

35
45
45

L1 Weight
(Kg)Part Number

14 . 47

14



Use:Advantages:Note:

Edge clamp
M12x14, complete with M12 mounting. 
Body is made of case-hardened steel and blued. 
Clamping hook is made of case-hardened steel and blued.
Tightening torque 75 Nm. 
Mounted using strength grade 10.9 screws.

EDGE CLAMP

Special versions (dimension H ±0.01) are available on request

Order no. Size H ± 0,1 G
F1

[kN]
F2

[kN]
Weight

[g]

58990101 M12x14 14 65 M12 12 5 1530

Workpiece

14 . 48



Base plate
M12x14, complete with M12 mounting. 
Body is made of hardened and tempered alloy steel, 
Mounted using strength grade 10.9 screws.

Use:
Used in conjunction with side clamp 58990101 
to also clamp slot the table groove.

Advantages:
- clamping also along the groove achieved 
with the lateral clamp only
- workpiece mounting surface increased by 30 mm.
- side clamp can be pushed 40 mm on the base plate

Special versions (dimension H ±0.01) are available on request.

BASE PLATE

Base plate, round
M12x14, complete with fixing screws. 
Housing from hardened, nitride steel. 
Fastened with screws of strength class 10.9.

Use:
Used in conjunction with side clamp 58990101 
to clamp slot the table groove.

Advantages:
- clamping along the groove achieved with the side clamp only
- workpiece mounting surface increased by 30 mm.
- same external diameter as side clamp 58990101

Note:
Flat sliding block 58990104 
Enables the side clamp with round base plate 
to be accurately positioned in the machine table groove.

BASE PLATE, ROUND

Order no. Size H G
Weight

[g]

58990102 M12x14 14 30 M12 910

Order no. Size H G
Weight

[g]

58990103 M12x14 14 30 M12 1330

14 . 49

14



51991557
51991558
51991559
51991560

14 . 50



51991561
51991562
51991563
51991564

14 . 51

14



14 . 52



51991565
51991566
51991567
51991568

51991565
51991566
51991567
51991568

14 . 53

14



14 . 54



51991569
51991570
51991571
51991572

51991569
51991570
51991571
51991572

14 . 55

14



51991573
51991574
51991575

51991573
51991574
51991575

14 . 56



51991577
51991579
51991581

Serrated

Ground

51991576
51991578
51991580

Serrated

Ground

Serrated

Ground

14 . 57

14



Serrated

Ground

Serrated

Ground

Serrated

Ground

51991582
51991584
51991586

51991583
51991585
51991587

14 . 58



Precision ground or serrated
Serrated

Serrated

Ground

Ground

51991588
51991590
51991592

Serrated

51991589
51991591
51991593

Ground

51991588
51991589
51991590
51991591
51991592
51991593

When Used Singularly
Clamping Force (N)

3,600 6,5 4,000 8 150

7,400 19 10,400 26 400

11,700 32 24,000 60 830

Allowable Screw Torque (N•m) Clamping Force (N) Allowable Screw Torque (N•m)
When Used with Slide Stop

14 . 59

14



51991594
51991596
51991598

Serrated

Serrated Ground

51991595
51991597
51991599

Ground

Precision ground or serrated

Serrated

Ground

51991594
51991595
51991596
51991597
51991598
51991599

Clamping
Force (N)  *)

3,600 6,5 160

7,400 19 440

11,700 32 920

Allowable Screw
Torque (N•m)  *)

14 . 60



51991600
51991601
51991602

Serrated

Serrated

14 . 61

14



51991603
51991604
51991605

14 . 62



51991606
51991607
51991608
51991609
51991610
51991611
51991612
51991613
51991614
51991615
51991616
51991617
51991618
51991619
51991620
51991621

14 . 63

14



51991622
51991623
51991624
51991625

51991626
51991627
51991628
51991629

Part Number

14 . 64



58990201
58990202
58990203
58990204

38
50
65
75

A

25
35
40
50

B

16
19
22
25

C

8
10
12
20

D

8
10
12
15

E

M6
M8
M10
M12

F
H

15
20
25
30

min

60
80
100
120

max

0.09
0.19
0.30
0.52

Weight
(Kg)Part Number

51991622
51991623
51991624
51991625

51991626
51991627
51991628
51991629

CP112 F

51991630
51991631
51991632
51991633

MOVABLE BLOCK PUSH CLAMP  V-PADS

FIXED V-BLOCK PUSH CLAMP

58990201
Fixed V-Block

14 . 65

14



51991634
51991635
51991636

14 . 66



51991637
51991638
51991639
51991640
51991641
51991642
51991643
51991644
51991645
51991646
51991647
51991648
51991649
51991650
51991651
51991652

20
25
30
30
40
40
50
60
40
50
60
40
50
60
50
60

38
33
30
38
32
60
50
46
60
50
46
170
150
130
150
130

90
95
105
200
210
280
310
350
280
310
350
420
470
530
470
530

18

20

25

25

32

32

58

75

92

92

101

101

22

24

32

32

36

36

10

12

18

18

22

22

31
38
46

38
46

M12x1.75

M8x1.25 - 50L

M10x1.5 -  65L

M12x1.75 - 80L

M16x2 -     85L

M12x1.75 - 80L

M16x2 -     85LM12x1.75

23

30

39

39

39

39

15

20
20
25

25

25

25

25

37

54

66

68

66

68

75

75

12

15

16

18

16

18

21

21

A
B

(h7) C D E F G H J K L M
Weight

(Kg)
Allowable Screw

Torque (N•m)Part Number

14 . 67

14



51991655
51991659
51991660
51991661
51991665
51991666
51991667

51991655
51991659
51991660
51991661
51991665
51991666
51991667

HOOK CLAMPS WITH SPRING

14 . 68



51991671
51991672
51991673
51991674
51991675
51991676
51991677

HOOK CLAMP HOLDERS

14 . 69

14



51991678
51991679
51991680
51991681
51991682
51991683
51991684
51991685
51991686
51991687
51991688
51991691
51991692
51991693
51991694
51991695

14 . 70



51991698
51991699
51991700

14 . 71

14



51991213
51991214
51991215
51991216

14 . 72



51991701
51991702
51991703
51991704

14 . 73

14



51991705
51991706
51991707
51991708

51991148
51991149
51991150

51991148
51991149
51991150

14 . 74



51991152
51991153
51991154
51991155

51991152
51991153
51991154
51991155

51991156
51991157
51991159
51991160

51991156
51991157
51991159
51991160

14 . 75

14



14 . 76



51991709
51991710
51991711

51991709
51991710
51991711

14 . 77

14



51991712
51991713
51991714
51991718
51991719

51991722

14 . 78



51991161
51991162
51991163
51991164
51991165
51991166
51991167
51991168
51991169
51991170

51991173
51991174
51991175
51991176
51991177
51991178
51991179
51991180

14 . 79

14



51991181
51991182
51991183
51991184
51991185
51991186
51991187
51991188

51991189
51991190
51991191
51991192
51991193
51991194
51991195
51991196
51991197
51991198
51991199
51991200

51991201
51991202
51991203
51991204
51991205
51991206
51991207
51991208
51991209
51991210
51991211
51991212

14 . 80


